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Our country, our future

525/2

S6 CHEMISTRY

Exam 19
PAPER 2
DURATION: 1 HOUR 30 MINUTES

For Marking guide contact and consultations: Dr. Bbosa Science 0776 802709. 

INSTRUCTIONS 

Attempt all questions 

1. Write structures of the following organic compounds  as per the IUPAC system 

i) 2,2- di methyl pentane 

ii) 2,2,3- trimethly butane 

iii) 3- ethyl, 2,3,5 – tri methyl hexane 

iv) 2,2 – di methyl propan –1-01 

v) 2- methyl hexa-2,4  - diene 

vi) Hexa – 1,3,5 – triene 

vii) Octa  - 1,4,7 –tri-yne 

viii) 3- chloro -4,5- dimethyl heptane  

ix) 2,3-di bromo – 3,5  di methyl hexane 

x) Propano nitrale




1 mark each 

2. An organic compound x contains carbon, hydrogen and oxygen only.  On complete combustion of 0.463g of X. 1.1g and 0.563g of carbondioxide and water were produced. When vaporized, 0.1g of x occupies 54.5cm3 at 2080C and 740mm of mercury 
                                 2080C

Find 

i) the empirical formula of x. (05 marks)

ii) the molecular formula of x  (05 marks) 

3. Complete the following equations and write down the mechanism of each. 

CH3CH2CH2OH 

Excess conc. H2SO4 


(2 ½ marks) 

                                                1700C 

ii)  CH3CH2CH2Cl 

KOH/Ethanol 



( 2 ½ marks) 

                                                  Heat 
iii) CH  =  CH 

H2O/ H+ (aq) 




(2 ½ marks) 
                                           Hg2+, 600C
                                  0                               

                                 11





iv)CH3CH2Br + CH3C-ONa                                                            ( 2 ½ marks) 
                                                    Heat 

4. Name the reagent (s) that can be used to distinguish between the following pairs of compounds. State what is observed in each case.

i) CH   
CCH3 and 

CH3 = CCH3 



(2 marks) 
                                                                                    OH

ii) CH3CH2OH 

  and 

    CH3CHCH3

           (2 marks)

iv) CH3CH2Cl and 

   Cl 


                               (2 marks)
                                           

v) CH3CH2C= CH    and  CH3CH2CH=CH2 

(2 marks)
5. Explain the following observations 

i) The boiling and melting points of alkanes increase with increase in the number of carbon atoms.  (3 ½ marks) 

ii) The boiling and melting points of halo alkanes are higher compared to those of corresponding alkanes of the same carbon atoms. (3 marks) 

iii) Lower members of alcohols are soluble in water.   (3 ½ marks) 

6. Using equations and stating conditions for the reactions, show how the following conversions can be made.
i) CH3CH= CH2 to CH3CH2CH2COOH  
(3 marks) 

ii) CH3CH3 
 to C6H6 


(3 ½ marks) 

                                            Cl 

iii) CH32Cl  to 
CH3CHCH3 

( 3 ½ marks) 

END

GOOD LUCK
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